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PK-1 SW=0,41PW=20,31
PSK=40,60

Pw=Pz=0,00 R=500
α=5,170g i=2%^ Δ=0,02

L = 53,051
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 = 0,605g

L = 68,532 L = 181,023

SW=0,30PW=10,99
PSK=21,96

Pw=Pz=0,00 R=200
α=6,988g i=2%^ Δ=0,02

SW=0,69PW=14,43
PSK=28,76

Pw=Pz=0,00 R=150
α=12,209g i=2%^ Δ=0,10

L = 86,214 L = 13,175 L = 32,896
SW=2,01PW=22,95

PSK=45,42

Pw=Pz=0,25 R=130
α=22,246g i=4% Δ=0,48

SW=1,46PW=48,33
PSK=96,56

Pw=Pz=0,00 R=800
α=7,683g i=2%^ Δ=0,10

SW=3,08PW=25,02
PSK=49,04

Pw=Pz=0,30 R=100
α=31,214g i=4% Δ=1,00

L = 127,337
SW=1,81PW=23,37

PSK=46,38

Pw=Pz=0,00 R=100
α=19,680g i=3% Δ=0,36

L = 70,698 L = 6,379
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